ΠΙΝΑΚΑΣ

ΜΕΤΑΣΧΗΜΑΤΙΣΜΟΣ ΜΟΝΑΔΩΝ : ΔΥΝΑΜΕΩΣ – ΠΙΕΣΕΩΣ – ΕΝΕΡΓΕΙΑΣ

	   Δύναμη                 N           kp             lb
	   Πίεση                   bar              at                atm            Torr       lb/sq.inch

	1 Ν=1kg m/s2  =       1        0,1020      0,2248
	1 bar = 105 N/m2 =      1              1,020          0,9869        750,1            14,50

	1 kp                =    9,807         1            2,205
	1 at   = 1 kp/cm2  = 0,9807           1                0,9678        735,6            14,22

	1 lb (pound)   =    4.448     0,4536          1
	1 atm                   = 1,013            1,033              1              760,0           14,70

	
	1 Torr                  = 1,333.10-3     1,360.10​-3   1,316.10-3      1           1,934.10-2

	
	1 lb/sq.inch          = 6,895.10-2    7,031.10-2    6,805.10-2    51,71              1


	Ενέργεια                        J                 mkp               kcal                 kWh               PSh                BTU                   ft-lb

	1 Νm=1J=1Ws    =        1                0,1020           2,388.10-4       2,778.10-7        3,777.10-7        9,478.10-4            0,7376

	1 mkp                  =   9,807                 1                 2,342.10-3       2,724.10-6        3,704.10-6        9,295.10-3            7,233

	1 kcal                  =   4,187.103         426,9                1                  1,163.10-3        1,581.10-3        3,968                   3,088.103

	1 kWh                 =   3,600.106         3,671.105      859,8                    1                 1,360               3,412.103            2,655.106

	1 PSh                  =   2,648.106         270,0.103      632,4               0,735                     1                2,510.103             1,953.106

	1 BTU                 =   1,055.103             107,6            0,2520             2,931.10-4        3,985.10-4             1                      778,2

	1 ft-lb                  =   1,356               0,1383          3,238.10-4        3,766.10-7        5,121.10-7        1,285.10-3                  1


          Σταθερά αερίων  R = 8315 J/Kmol   K= 848 mkp/kmol  K= 1,357 kcal/kmol  K=2,310-3 kWh/kmol  K
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